Manufacturing Systems 

Quiz 2 Spring 2006    
NAME _________________________

a) The weekly demand for a part is 120 units per week, with a unit cost of $100 and an ordering cost of $30 and with an annual interest rate of 25%. What are the yearly holding and ordering costs for this item, if EOQ is used to calculate the reorder quantity? (20%)
Q*=122.38


Holding Cost = h (Q/2) = 1529.75

h= $25




D=6240


Ordering Cost = AD/Q = 1529.66

A= $30=
b) What is meant by dependent demand? Give an example. (13%)
See Class Notes
2) The mean annual demand for an item is 36 units per year (assume a Poisson distribution to determine the SD), the holding cost is $25 per item per year, the replenishment lead time is 60 days, the cost of placing an order is $95 and the cost of a backorder is $130.  Calculate the reorder point (assuming a normal distribution of demand and using the critical ratio). (33%)
θ = 36/365 * 60 = 5.917

σ = SQRT(5.917) = 2.432
b/(b+h) = 130/(130+25) = 0.83870

Φ(0.99) = 0.83870


r* = 5.917 + 0.99(2.432) = 8.324
3)  Complete the MRP calculation table, assuming lot for lot replenishment and a lead time of 1 week (34%)
	Period (weeks)
	
	1
	2
	3
	4
	5
	6

	Gross Requirements
	
	30
	25
	43
	15
	0
	65

	Scheduled Receipts
	
	25
	
	
	
	
	

	Projected on-hand
	40
	35
	10
	-33
	--
	--
	--

	Net Requirements
	
	
	
	33
	15
	0
	65

	Planned Order Receipts
	
	
	
	33
	15
	
	65

	Planned Order Release
	
	
	33
	15
	
	65
	

	
	
	
	
	
	
	
	


(continue overleaf if necessary)















